MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET. SUITE 1603
MIAMIL, FLORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (305) 375-2901 FAX (305) 375-2908
Hurricane Security Shutters Mfg. Corp. CONTRACTOR LICENSING SECTION
240 SW 32 Court (305) 375-2527 FAX (305) 375-2558
Fort Lauderdale ,FL 33315 CONTRACTOR ENFORCEMENT DIVISION

(305) 375-2966 FAX (305) 375-2908

PRODUCT CONTROL DIVISION
(305) 375-2902 FAX (305) 372-6339

Your application for Notice of Acceptance (NOA) of:

20 Ga. Galvanized Steel Storm Panels Shutter

under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of

Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade

County Building Code Compliance Office (BCCO) under the conditions specified herein.

This NOA shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at any time from a jobsite or manufacturer's plant for quality control testing. If this
product or material fails to perform in the approved manner, BCCO may revoke, modify, or suspend the
use of such product or material immediately. BCCO reserves the right to revoke this approval, if it 1s
determined by BCCO that this product or material fails to meet the requirements of the South Florida
Building Code.

The expense of such testing will be incurred by the manufacturer. ﬂ/ %‘,59

ACCEPTANCE NO.: 00-0705.06
EXPIRES: 08/14/2003 Raul Rodriguez
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS
BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building
Code and Product Review Committee to be used in Miami-Dade County, Florida under the conditions set

forth above. /

Francisco J. Quintana, R.A.

Director

Miami-Dade County
APPROVED:_09/14/2000 Building Code Compliance Office

\\s045000 1 \pc2000\\templates\notice acceptance cover page.dot

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: http://www.buildingcodeonline.com



Hurricane Security Shutters Mfg. Corp. ACCEPTANCE No. : 00-0705.06

APPROVED . SEP 14 2000

EXPIRES : 08/14/2003

NOTICE OF ACCEPTANCE: STANDARD CONDITIONS

SCOPE

This renews the Notice of Acceptance, No. 00-0201.04, which was issued on March 17, 2000. It
approves a 20 gauge galvanized steel storm panels shutter, as described in Section 2 of this Notice
of Acceptance, designed to comply with the South Florida Building Code, 1994 Edition for Miami-
Dade County, for the locations where the pressure requirements, as determined by SFBC Chapter
23, do not exceed the Design Pressure Rating values indicated in the approved drawings.

PRODUCT DESCRIPTION

This 20 gauge galvanized steel storm panels shutter and its components shall be constructed in strict
compliance with the following documents: Drawing No. 00-013, titled “20 ga. Galvanized Steel
Storm Panel”, prepared by Knezevich & Associates, Inc., dated January 18, 2000, last revision # 1
dated January 18, 2000, sheets 1 through 6 of 6, bearing the Miami-Dade County Product Control
Approval and Renewal stamps with the Notice of Acceptance numbers and approval dates by the
Miami-Dade County Product Control Division. These documents shall hereinafter be referred to as
the approved drawings.

LIMITATIONS

All permanent set components, included but not limited to embedded anchor bolts, threaded cones,
metal shields, headers and sills, must be protected against corrosion, contamination and damage at
all times.

INSTALLATION
This 20 gauge galvanized steel storm panels shutter and its components shall be installed in strict
compliance with the approved drawings.

LABELING
Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved".

BUILDING PERMIT REQUIREMENTS
6.1 Application for building permit shall be accompanied by copies of the following:

6.1.1 This Notice of Acceptance.

6.1.2 Duplicate copies of the approved drawings, as identified in Section 2 of this Notice of
Acceptance, clearly marked to show the components selected for the proposed
installation.

6.1.3 Any other documents required by the Building Official or the South Florida Building
Code (SFBC) in order to properly evaluate the installation of this system.

el . Mt~

Helmy A“Makar, P.E.- Product Control Examiner
Product Control Division
20of3




Hurricane Security Shutters Mifg. Corp. ACCEPTANCE No. : 00-0705.06

APPROVED SEP 1 4 2000

EXPIRES : 08/14/2003

NOTICE OF ACCEPTANCE: STANDARD CONDITIONS

Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed and the
original submitted documents, including test-supporting data, engineering documents, are no older than eight
(8) years.

Any and all approved products shall be permanently labeled with the manufacturer's name, city, state, and the
following statement: "Miami-Dade County Product Control Approved", or as specifically stated in the
specific conditions of this Acceptance.

Renewals of Acceptance will not be considered if:

a.  There has been a change in the South Florida Building Code affecting the evaluation of this product
and the product is not in compliance with the code changes.

b.  The product is no longer the same product (identical) as the one originally approved.

c.  If the Acceptance holder has not complied with all the requirements of this acceptance, including the
correct installation of the product.

d.  The engineer, who originally prepared, signed and sealed the required documentation initially

submitted, is no longer practicing the engineering profession.

Any revision or change in the materials, use, and/or manufacture of the product or process shall automatically
be cause for termination of this Acceptance, unless prior written approval has been requested (through the
filing of a revision application with appropriate fee) and granted by this office.

Any of the following shall also be grounds for removal of this Acceptance:

a.  Unsatisfactory performance of this product or process.

b.  Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any other
purposes.

The Notice of Acceptance number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the Notice of Acceptance is
displayed, then it shall be done in its entirety.

A copy of this Acceptance as well as approved drawings and other documents, where it applies, shall be
provided to the user by the manufacturer or its distributors and shall be available for inspection at the job site
at all times. The engineer needs not reseal the copies.

Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

This Notice of Acceptance consists of pages 1, 2 and this last page 3.

END OF THIS ACCEPTANCE

Ao A

Helmy A Makar, P.E.- Product Control Examiner
Product Control Division
3of3




PRODUCT MARKING PRODUCT MARKING ° 2236
e )
LOCATION {OPTIONAL LOCATION! ST WIDTH UNLIMITED WIDTH UNLIMITED
e f 062 (PERP. TO PANEL SPAN) {PERP. TO PANEL SPAN)
. 250 .
g 1.110 3 1110 a2 TTYE] /f‘ R .25 10P MOUNT TOP MOUNT
o [ " ] ] o ) " K SECTION = SECTIONp—
m o ® & i = 2| o ? =
a5 ¢ 12.00 COVERAGE | . . l ‘ " -
4 < «{ | '\ | = = - N T
13.50 N w w O g = Cz)
2.002 ) I Jf= ol 3
‘ — HE 23 Z2L o4
2.329" < q - T
FULL PANEL HALF PANEL -5 =5 o y g |w
B matmmameer ) W o w o w
ONE HALF PANEL PER OPENING wN w|N 3" S o E g
MAY BE USED AS REQUIRED TO |l PLAN VIEW ~lx PLAN VIEW &
STORM PANEL  COVER OPENING. “h* HEADER zle. v Iie | Y FolE 820
—— Yle HEHTHEFIAFRFHTIAIH vle HTIATEPSIATRFEIETA <b|3J %g @
SCALE : 3" = 1'-0" SCALE : 3" = 1-0 2|8 z|g —5|3 2 @
2.250 w w E B
o) i O« gy o8
062 aig a1< o™l §
[(TYP) wly wiy . 5 w |l
R .250 — 174-20 x 3/t~ MACHINE SCREW zZir zZ|r |l o
) STUD PUNCHED INTD ANGLE e djx wel 2. 2z
s - o 425 TYP. o 125 TYP. ° {SEE DETAILS FOR SPACING! ey 21y wlp g 3@
g 2 s S ] x|z %|= ) <ulE g gy
~ m ~ . ~ ~i3 093 TYP. g g 32 235w
\ . J | M E
z -
[ A J 2.00 » 2.00 X k! ! o ol o o o o o o Jox 5 Tw g g o
2.000 5.00 MAX. L——l v BOTTOM MOUNT BOTTOMMOUNT || 0y 2 3 o
E, N + | & [ R P Z L _g E g2 :
»J* HEADER ANGLE ANGLE k STUDDED ANGLE TYPJ OVERLAP FASTENERS & TYP OVERLAP FASTENERS & >c|gE % o
— OPTIONAL BAR [SEE PLAN OPTIONAL BAR (SEE PLAN w2 3
TRl 3 o on SCALE 3" = 1.0~ ‘ <CALE. 3" - 10" SCALE 3" = 7-o~ VIEW L NOTES 8 2 9} . VIEW & NOTES B & 9) NDlE @ g
. . wazl @ |z
z m
o
I'YPICAL ELEVATION - TYPE | T'YPICAL ELEVATION - TYPE 1l Zolg ¥ £
: ¥ I8 181
-
L - L6 WIDTH UNLIMITED . WIDTH UNLIMITED 2 )
2 A [T 3 469 : o 1 (PERP. TO0 PANEL SPANI TOP MOUNT  — (PERP. TO PANEL SPAN} | 10p MoUNT DL-IJJ 0 g E
- HORIZONT AL - —F— 1—4 SECTION p=— szcncmr- / m 5 3
L GA e}
LEG OPTIONAL ng l;‘af lq g [ jeoauce — 5 ; . NE %‘E@ -
. —— - =
ALT. LEG [ 55 < o
DIRECTION = - EQ' A agm@
w _ w IS 'gm
@ P TRACK WINGNUT . WASHERED NUT r:f 3 215 >§ _3‘8 SC%
. ql« e ]
SCALE : 3" = 1-0" SCALE : HALF SIZE SCALE . HALF SIZE " z mle g pe B—ém“-
ZAMAC 3 ALLOY NOTE: wio wlo <0 g S JE
WASHERED NUT I g PLAN VIEW gz PLAN VIEW (_lj b g . 3.‘33
[
MUST BE PLACED OVER BT ¥ ZI1T ! 0 u% s
NARROW PORTION OF z|8 : Qe (_, < NI E3
APPROVED AS COMPLYING W!TH THE yHOLE sLoOT. wig &l o (S(_E NRE
a ( < &~ 'f\
SOUTH FLOR!IDA BUILDING CODE gy 218 oUJ c % G-:ﬁ
- Z|r~
<ix R
GENERAL NQOTES: DAT 7 el gz NE EE =

1 THIS SHUTTER SYSTEM IS DESIGNED IN ACCORDANCE WiTH THE SOUTH FLORIDA  py x1= %2
BUILDING COOE, 1994 EDITION. T < P

2. POSITIVE AND NEGATIVE DESIGN PRESSURE CALCULATIONS SHALL BE PERFORMEO PRODUCT COMTROL DIVISION I ———

FOR SPECIFIC JOBS IN ACCORDANCE WITH ASCE 7~88 “MINIMUM DESIGN LOADS 1.00 1 1 1 H ! ! i a
FOR BUILDINGS AND OTHER STRUCTURES”. BUILDING CODE COMPLIANCE OFFICE | = BOTTOM MOUNT LS t i A

3 STORM PANELS SHALL BE 20 GAUGE STEEL (t « .035"} CONFORMING TO ASTM A653, - 048 16 GA. Lz | l__u’"_l b
STRUCTURAL QUALITY, GRADE 50, CLASS 1, WITH A G60 GALVANIZED COATING  ACCEPTANCE NO. 0-020! : 1TYP! . (TYP) BOTTOM MOUNT L
EXTRUSIONS SHOWN SHALL BE 6063-T6 ALUMINUM,_ U.O.N. o a 1.29

L. PRODUCT MARKINGS SHALL BE WITHIN 12~ OF ONE END OF THE PANEL WITH A MINIMUM - E :‘:

OF ONE MARKING PER PANEL AND SHALL BE PERMANENTLY LABELED AS FOLLDWS: o |21%
HURRICANE SECURITY SHUTTERS MANUFACTURING COMPANY STEEL BAR 'YPICAL ELEVATION - TYPE il TYPICAL ELEVATION - TYPE IV -1 |°1%
ET. LAUDERDALE, FL _ a0 e
D e NIEEE of et PRODUCT RENEWED »-° {NO BOLTS REQUIRED TO HOLD PANEL SEAMS {NO 80LTS REQUIRED TO HOLD PANEL SEAMS > 1o

S. ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH A o [¥

B T ENeIE S TRENGTH OF 60 KS1 OR APPROVED COATED HARDWARE. TOGETHER FOR THIS MOUNTING CONDITION.) TOGETHER FOR THIS MOUNTING CONDITION.) 2152
o

6. MATERIAL SPECIFICATIONS NDTED HEREIN ARE THE MANUFACTURER'S REPRESENTATION  ARCEFTANCENo, OO0 — © 705. 0 6 =2
OF MATERIALS USED !N PRODUCT TESTING. ; , FASTENER @ 12” 0.C. FOR DESIGN =g

7. TOP & BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD CONDITIONS " / / LOADS LESS THAN OR EQUAL TO 2
DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE APPLICABLE. DATE © 5%/ /”’, 2003 :g’:;-:%nzggn 9rf«kr§?$o‘¥§’£~ L G- L

8. FOR TYPE ! & TYPE il PANELS, AN OPTIONAL 1" x 1° x 16 GA STEEL BAR MAY BE USED SEE ANCHOR SCHEDULE FOR ma
TO CONTROL DEFLECTION OF STORM PANEL SYSTEM ON INSTALLATIONS BELOW 30° Py . ANY ACCEPTABLE ANCHOR. ~ )
ABOVE GRADE, PROVIDED THAT THE PANEL SPANS USED ARE 101" OR LESS. AND THAT SDUCE — e B m e m . —————— 7 V.J. INEZEWCH
THE SEPARATION FROM GLASS IS 2% OR MORE BUT LESS THAN 2.5%. PR CONTROL DIVISION i PROFEYS WAL ENGINEER

BUILDING CODE COMPL. - Y . = < 11227 7 [/

9, TYPE LIl PANELS SHALL BE FASTENED AT MIDSPAN W/ 17420 x 1" BOLTS WITH i VLT nAX, MIN. / . No:
ZAMAC 3 ALLDY WASHERED WINGNUTS OR JACKNUTS ISEE TYPICAL ELEVATIONS). AN ; 7 FL figesise No:
FOR PANEL SPANS LESS THAN 4B~, MIDSPAN FASTENERS ARE NOT REQUIRED. TYPE I 2 I 8 ; P 10983
PANELS UTILIZING A STEEL BAR SHALL BE FASTENED AT OVERLAPS AT MIDSPAN TO 7 LG 174" MAX, . .

A 1" x 1" x 16 GAUGE STEEL BAR USING 1/4-20 x 3-1/2" BOLTS WITH ZAMAC 3 ALLOY // @ TYP. [OPTIONAL) 1727 MIN. OVERLAP
WASHERED WINGNUTS OR JACKNUTS {SEE TYPICAL ELEVATIONS). FOR TYPE ill & IV PANELS, 4 SEE TYPICAL ELEVATION H
FASTENERS AT PANEL MIDSPAN ARE NOT REQUIRED. OVERLAP FASTENERS [_ L NDTE B & 9. Yy
ALUM. ANGLE CLOSURE PIECE:
10. THE DETAILS AND SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TYP. [SEE NOTE « 8) ?T(?Jc"frﬁgg AN g s 1o £ / N 1 200&
TESTED FOR IMPACT, CYCLIC AND UNIFDRM STATIC AIR PRESSURE TESTING / ALUM. ANGLE CLOSURE PIECE 2- % 5= x .125% MAX. A
IN CONFORMANCE WITH DADE COUNTY PROTOCOLS PA 201,202. AND 203. \LUM. A cL dare
1" x 2% x 0.125" MIN. TO EXISTING 01/18/00
DESIGN IS BASED ON HURRICANE ENGINEERING & TESTING (HETI) REPORT No. 9&-312a, 27 x 5" x 0.1257 MAX. PLAN VIEW STRUCTURE e drawn by
No. 9L-317, No. 95-L01a, AND CONSTRUCTION AND TESTING CORPORATION (CTC) sxusrmuJ FASTENER ( 12- 0. FOR DESIGN LOADS B IR RY; LS MC
I3 . 85.021, 95~ - . . - = 1'-0" 2
REPORT No. §5-021, 85-031, 96-006R STRUCTURE LESS THAN OR EQUAL TO 110 P.S.F & @ B O.C. Wm

1. AT LEAST ONE WARNING NOTE PER OPENING SHALL BE PLACEO IN A CONSPICUOUS FOR DESIGN LOAOS GREATER THAN 113 P.S.F. . IWK VK

LOCATION ON ANY OF THE COMPONENTS OF THE STORM PANEL SYSTEM AOVISING {SEE ANCHOR SCHEDULE FOR ANY ACCEPTABLE ANCHOR} araving mo.

THE HOME OWNER OR TENANT THAT THE STORM PANELS WILL NOT OFFER HURRIC ANE

PROTECTION UNLESS ALL REINFORCING BOLTS AND OR BARS ARE PROPERLY INSTALLEO 00-013
WHEN REQUIRED. WARNING LABEL SHALL BE FASTENED WITH PERMANENT ADHESIVE -

OR MECHANICALLY. ( sheettofe )

e dam I e~ Ao

00~ 020/ v g



E EXISTING STRUCTURE
ISTING STRUCTUR
Bxis - FASTENER, SEE ANCHOR ’

SCHEDULE. REFERENCE

A m
- CONNECTION *TYPE 3 T FASTENER, SEE ANCHOR
! FASTENER. SEE ANCHOR —\ . EDGEDIST. , 4 SCHEDULE. REFERENCE :
<k SCHEDULE. REFERENCE - P W - ‘: . - CONNECTION "TYPE 4°
RN | / CONNECTION *TYPE 2 ) emseo. | a7\ . _ 1
378~ / ® {TYp) a ‘ a EXISTING STRUCTURE 1
M - h 4 . . : 1/6-20 MACHINE BOLT % - —
® f L. MATMAX. S e o eay, 4 1747 MAX. o & NUT @ 12” 0.C. STAGGERED Ug g =S
A =i r | M - {TYP, TOP % BOTTOM) z = Q=
Gk 7 i : h 174" MAX. =3, Qg
a1 & I \l i 161 S q. , ——— )c; T 5 o
wiow, i I! oy a 3 s =0 g = e
P | [ ! i I \ W D18 E p
— | SEE MIN. ! ——"T— l 3 Wi Q
SEE MIN, (I | w SEPARATION ; ©) g® oseemn L] i ©) |3 ol g 3lo
SEPARATION p 3 FROM GLASS 3 EESQRG'}_ASS 1 = <3|2 8 g »
FROM GLASS | — i rfd SCHEDULE ——|] i ® g S eMEDULE L 5 219 =g}l3 922
SCHEDULE SRS ® | Elt N 8| T | N ! ® o] oz|kE 3 <
L zln AR V . e on' uo.. e § =
A » — 813 B I 5l g HE o FuazT
A e 21z GLASS @ conT. Zla D, gt .lfe
g’ﬁADSoSoR "'U ’ o 23 B z i OR DOOR L DE =L EN>
I qi o l l N4 8 w
M |/ I alx SEAS‘OSDR ' nE (©CONT. (TYP. e < w E g 3 N
[ : 5‘% Xio ToP & BOTTOM i B35 :’_gﬁ z
+
— iv]'\ l I T ® coNT. —_| | 1/4-20 MACHINE BOLT & = 0 B Tz b E .
JE L | w WINGNUT(B) OR WASHERED u wle R - Oe|E 2315
Sy . i w i - 7] 8 o4 = g Eije
awd <41 : 1] NUT @ 6" 0.C. FOR TYPE alas v I = 1/4-20 MACHINE BOLT & -z E a o
Sar : | 12 1 OR @ 72" 0.C. FOR TYPE I l = - WINGNUT(8) OR WASHERED >ClgF °
L g : ] \I & TYPE IV 4 \ N NUT @2 @ 6" 0.C. FOR TYPE ﬂ: 2 i ||E
: P A | E j x = s . - i 11 OR @ 12" 0.C. FOR TYPE It mals el
th 4 : | ¥ ; a4 IN_FASTENER, SEE ANCHOR L TYPE iV Zlz % [
: \_ < T ——— EXISTING STRUCTURE EMBED] off  SCHEDULE. REFERENCE Zolg 215
S 4 al: ® cont 1/4-20 MACHINE BOLT & L L BUTYPM 4 | CONNECTION “TYPE 4° ¥ o ia 5]
) - WINGNUT(E) OR wASHERED / a O
FASTENER, SEE ANCHOR NUT @6~ 0.C. FOR TYPE 4 J Bt . _ —~+H- EXISTING STRUCTURE
SCHEDULE. REFERENCE 1% OR @ 127 O.C. FOR TYPE I epcE oisT. | M Sl w —
EMBED. CONNECTION *TYPE 1 2 TYPE IV FASTENER, SEE ANCHOR Quil s § 3
YE) SCHEDULE. REFERENCE Wz —S—.% R
- CONNECTION *TYPE 3" wld
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL = SIDE CLOSURE REQ'D. {SEE PLAN VIEW} g( _—é S EQ‘@
D_ L PN
N\ Q3
Q
< 6 Ufgm
@ WALL MOUNT SECTION . CEILING/INSIDE MOUNT SECTION @ BUILD-OUT MOUNT SECTION >E g&)'g %
— - ‘:, T oo ol L Qs
SCALE : 3" = 1'-0" SCALE : 3" = 1-0" SCALE : 3" = 1'-0 3 T
ORI\ 55E3
WOO0D FRAMING FASTENER, SEE ANCHOR N o
SEE MIN. SEPARATION EMBED. SCHEDULE, REFERENCE < 2 ‘% 22
FASTENER, SEE ANCHOR FROM GLASS SCHEDULE iTypr) i CONNECTION “TYPE 1" i G 'R
4 SCHEDULE. REFERENCE n ~ o {USE ANCHORS FOR DIRECT Owl S= ~
CONNECTION “TYPE 2 GLASS 7V MOUNT ONLY @ 6" 0.C. MAX. FOR Ul & s
OR DOOR— EXISTING TYPE | L Il OR 12* 0.C. MAX. FOR M) &
j ay peb
b STRUCTURE —¢ TYPE 1 & Iv, BUT DO NOT EXCEED N FILES= =
7 ® ‘ 2 SCHEDULE SPACING). ol .
14" MAX ° “ y T
Lo AN Y g -
. ™~ 1 [ d
B‘v‘; " w ,_'—.——‘—C[_ p 1 R.
aa E g)a 2 } ! o8
! [u) wlo 1 ol 4
| | z - Q : | APPROVED AS COMPLYING WITH THE Eg
us 3 i | =iz I
J : S f | SOUTH FLORIDA BUILDING CODE 2 slz
o | n W, -
GLASS ® Ilw | z | Ny : ' I 3 DATE W/Z 2009 Ol 1218
OR DOOR ol | o i | z| 9 ] ol |
SEE MIN. - zln x- Zld CIRH
SEPARATION o ho 2 | g : gkADSOSOR : ® g BY > E
FROM GLASS - 2|z | f | P ] I PRODLCT CONTROL DiVISiON o3z
z1 3 L ®cont ! 2| % K 2
< — . - w TR P AN : a
% i — /< BUILDING CODE COMPLIANCE OFFICE =3
x| & ! | FRoMGLASS screDULE ~ [/ N ACCEPTANCE N0, OO0 -6 20/. 0 : IS
< r ! | <| & ‘ P Al LA 5
Tjw sl
1 Lf = - U [
: u L 1120 magsme soLT & i ; :l» " PRODUCT RENEWED
g R w 1748 x 1-3/L" 5.5. LAG /L-20 - | u
gy M @cont @ 12 0.C. W/ 1172+ WINGNYT (B) OR WASHERED | 7 70506
- Wo, 11 "“ ; ” NUT §§ @ 6" 0.C. FOR TYPE - 05.0
) 3555 PENETRATION INTo wooo |0 &2 B0 0 CoR TvpE — : ACCEPTANCENe, OO~ 0
- N / ‘ I & TYPE IV wie [ a
7- §§§§ = ¥ 2-1/4"0 x L-1/2"S.S. g ’V—, | EXP TION DATE 08 /4‘ ZO O?
/] AN FASTENER, SEE ANCHOR LAG SCREW @ 2" 0.C. MAX. wlg | - : ’
SCHEDULE. REFERENCE 1/6-20 MACHINE BOLT 2 b o sune N |
EMBED CONNECTION “TYPE 1~ WINGNUT(8) OR WASHERED 2% 6" P.T N
ey NUT B3 @ 6 0.C. FOR TYPE. 2 00D CONT. EXISTING FASTENER, SEE ANCHOR
WOOD FRAMING 12 1 OR @ 127 0.C. FOR TYPE il STRUCTURE M SCHEDULE, REFERENCE BUILDING CODE COMPLIANCE OFFICE
& TYPE IV NOTE: THIS DETAIL MAY BE USED O s IRECT
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL AT TOP OR BOTTOM OF PANELS. MOUNT ONLY @ 6" O.C. MAX. FOR
_ ; TYPE ! & 1l OR 12" 0.C. MAX. FOR e
NOTE: USE OF THIS DETAIL IS LIMITED TO = 72 PSF. ;cY:EEDlﬂL&E ';ﬁzchch%O NOT EXCEED eyee o re
design by }|checked by
WALL MOUNT SECTION @ WALL MOUNT SECTION ® WALL MOUNT SECTION o= ]| o o
- . . e drawing no.
@ SCALE : 3" = 1-0" SCALE: 3" = 1'-0 (DIRECT MOUNT) : ' 00-013
' SCALE : 3" = 1'-0" ' oiie [ sheet 20f 6 )

e



d

[ SEE MIN. SEPARATION w
FROM GLASS SCHED, 5
z a EMBED.
. T (TYP)
9
z ‘d /——- EXISTING STRUCTURE
(® conT. — 4. J
gl ! - / FASTENER, SEE ANCHOR -
. oz . / SCHEOULE, REFERENCE L] 3
1/4-20 MACHINE BOLT Zla Fo e CONNECTION “TYPE 4 =98 § z
. o :
GLASS L NUT @ 127 O.C. ez i @ “1/6~20 MACHINE BOLT & =cld Z|4
OR DOOR—= ><< E 4 WINGN! TOR WASHERED ] B 3] :"_"
@CONT. (TYP. 5 o | NUT g§ @ 6” 0.C. FOR TYPE ol 3 ot
TOP & BOTTOM w I 12 1 0% @ 12* 0.C. FOR TYPE (D) sTorm PANEL ATy 1 B
o s A o METYPEW RolE8Slo
wi . 4 4. b\ gi— - 3 5' . <g 2 g @ g
glad " £ N alat 4 4|b z{3 1/4-20 S.5. 8OLT & I ERES
=5 | b wia . ] [ 3 - e Oclk &
“ak &=% 174-20 "As'"NE BOLT & = ol WINGNUT @ PANEL MIDSPAN - HER 4
[ : WINGNUT (8) OR WASHERED — AL OR @ 51 0.C. MAX. ITYP) O |2,
N NUT @ 6" 0.C. FOR TYPE ] ) 0 ol o § w o
= 1% # OR @ 12" 0.C. FOR TYPE a1y w28y iz
AN e TYPE IV Inl Zl« . . slme 3
: FASTENER, SEE ANCHOR @ qle 2" x 2" x .125" MIN. TO <8lpggiu
SCHEDULE, REFERENCE ez L~ x 4" x 125" MAX. CONT. zio> & £ IN
EXISTING CONNECTION "TYPE 4~ SEE MIN. SEPARATION » g 6063-T6 ALUM. ALLOY OR naa 2 a0 z
STRUCTURE FROM GLASS SCHEDULE <~ 18 GAGE GALV. STEEL SR
\ il ANGLE Tuwlxd
us o
w Oo Se E o
= SIDE CLOSURE REQ'D. (SEE PLAN VIEW} v -2 % a3ls
NOTES: - THIS DETAIL MAY BE USED AT TOP g U ~~ u>1'-_ & ; °
OR BOTTOM OF PANELS. N2 g ik
g
- HEADERS (2 & (3) CANNOT BE USED IN NOQTE: THIS DETAIL MAY BE USED 22 G2
COMBINATIO®N WiTH THIS DETAIL. AT TOP OR BOTTOM OF PANELS. @ STORM PANEL uz'l o g ﬁ E
Q = Ho
¥ ¥ JiL:]
ALT. BUILD-OUT MOUNT SECTION WALL MOUNT DETAIL CORNER DETAIL CE——
e
Wzl I35 w3
NGB E S
A < N D
Zols S Em“
N\ 8.2 9
( L R380
>213535%
-— Q
TABLE 1 - STORM PANEL SCHEDULE TABLE 2 -~ MIN. SEPARATION FROM GLASS SCHEDULE Jr &j Q_ﬁ'&:é
OIN £ st
VERET
TYPE | TYPE 1i TYPE i TYPE IV [ <
£ MINIMUM SEPARATION | MINIMUM SEPARATION GE \j\_a m'§$
FOR MOUNTING FOR MOUNTING FOR MOUNTING FOR MOUNTING : POSITIVE FOR INSTALLATIONS | FOR INSTALLATIONS NEWED Y Veed
CONDITIONS W/ CONDITIONS W/ CONDITIONS W/ CONDITIONS W/ pESIGN |ACTUAL SHUTTER 30° OR LESS GREATER THAN 30 PRODUCT RE < SOI28
“h* OR “U" HEADERS | HEADERS & SILLS |~h" OR "u~ HEADERS | HEADERS & SILLS LOAD SPAN (L) ABOVE GRADE AegxgHGERS?DE onl S5 2o
NEGATIVE |& SILLS USING STUDS,] USING STUDS, BOLTS |& SILLS USING STUDS,] USING STUDS, BOLTS W {FT - IN) {INCHES) OO0~ oo 5. o) é Wi = £ #£3
DESIGN LOAD | BOLTS OR DIRECT OR DIRECT MOUNT | BOLTS OR DIRECT OR DIRECT MOUNT (PSF) ACCEPTANCE No, ) =0 &
W MOUNT @ 6* 0.C. MOUNT @ 6~ 0.C. MOUNT @ 12" 0.C. MOUNT @ 12" 0.C. BAR NG BAR NG BAR o 8//4/20 03 N = ::32 Z
(PSF) . EXPIRATION DATE 1)
BOLTS OR BAR REQ 0. BOLTS OR BAR REQ"D. NO BOLTS OR BAR REQ°D. | NO BOLTS OR BAR REQ"O. 5-0 2 2-1/2 1-1/6 4
AT MIOSPAN DVERLAPS AT MIOSPAN OVERLAPS AT MIDSPAN OVERLAPS AT MIDSPAN OVERLAPS 40.0 8-S 2 2-172 1-172 By ”(/6% /. —
L max. L max. ~ L max. L max. 12 -0 N.A. 3-1/L 2-1/2 —ft -
(FT-IN) (FT-IN) T {FT-IN) (FT-IN) —= s = === PRODUMONTROL%%%%EMCE "
- - - RE
Lo.0 8-8 12-0 8-8 n-s 50.0 8-5 2 2-1/2 1-5/8 BUILDING CODE COMPLI Sid .
45.0 8 -8 12 -0 8-8 10 - 10 11-9 N.A. 3174 2-3/¢ . 2lg
50.0 8-8 1-9 8-8 10 -3 S-0 2 2-172 1-1/4 _. N ’ . el |ol2
55.0 8-8 1 -2 8 -8 9-9 60.0 6-5 2 2-1/2 1-5/8 . Sl 218
60.0 8-8 10 -9 §-8 9- 4 10 -9 N.A. 3-1/4 2-1/2 APPROVED AS COMPLYING WITH Tuf L E
62.0 6-8 10 - 6 ] 8-8 9 -3 S-0 Z 2-1/2 1-1/4 SOUTH FLORIDA BUILDING CODE e
65.0 8-8 0 -4 8-8 9-0 70.0 8§-5 2 2-1/2 1-3/4 . DAT 7 SABE
70.0 8-6 5 -1 8-8 8 -8 g -1 NA 3-1/4 2175 _ By 22
LI
72.0 8 - & 5-9 8 -7 8-7 5:0 2 2:1/2 -1/ - =3
75.0 8-0 5 -7 8-« 8- 80.0 == 2 S 1-7/8 PRODUCT CONTROL DIViSION 5l
; - A - 2-1/8
80.0 7-6 5-3 8 -1 g -1 — 2 = —yn BUILDING CODE COMPLIANGE OFFICE
90.0 6-8 8-9 7-2 7-8 90.0 5.5 2 R 378 - acceeTance o, 0= 02.01. 04
100.0 6-0 8-3 6-6 7-3 o s e I 2
110.0 5-6 7 -1 S - 10 6 - 1 P 2 2172 Yy
120.0 - : 5-0 1-7 5-5 6-1 100.0 6-0 2 2-1/2 1-3/8
130.0 L-7 7-3 5 -0 6-4 # 8-3 2 2-1/2 2
140.0 4 -3 7-0 4 -7 6 -1 L0 2 2-1/2 1-1/4
150.0 L-0 6-9 4-3 5-1 110.0 6-0 2 2-1/2 1-3/8
160.0 3-9 6 -1 L-0 5S-9 7-1 2 2-1/2 1-7/8
170.0 3-6 6 - L 3-9 5-17 L-0 2 2-1/2 1-1/¢e 01/18/00]
180.0 3.4 6 -2 3-7 5-5 120.0 6-0 2 2-1/2 1-3/8 —— dravn by
150.0 3-2 6-0 3-5 5-3 7-7 2 2-1/2 1-1/8 _ AS NOTED Me
200. -0 - 10 - L -1 N design by l{checked b
9.9 2 > 2-2 N.A. - NOT APPLICABLE ~ MUST MEET "NO BAR" REQUIREMENTS. 1 1WK “ vm‘
210.0 2-10 5-9 3-1 L-9 : arawing no
220.0 2-9 5-7 2-m L-6 1
230.0 2-7 S -4 2-9 P 00-013 )
L sheet 30f 6 |

01/18/00 1351



. .ANCHOR SCHEDULE ANCHOR SCHEDULE
FASTENER SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LDADS AND SPANS FASTENER SPACING (INCHES! REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS
L
2" EDGE DISTANCE 3" EDGE DISTANCE 2" EDGE DISTANCE 3" EDGE DISTANCE
w 2]
g LOAD ['SPANS UP TO | SPANS UP 70 | SPANS UP 70 | SPANS UP 70 | SPANS UP TO[ SPANS UP 70 | | 0& LOAD ['SPANS UP TO [ SPANS UP TO | SPANS UP TO | SPANS UP TO | SPANS UP T0 | SPANS UD TO
cF (W) E NG 2 NG £ NOTE ® i EE (W) i Norc1) | (SEENOTEY) | (seENOTEY) | (sEENGTEY | (sEENOTE 1)
LG | ancror Tyee peg | (SEENOTE1) | (SEENOTEY) | (SEENOTE1) | (SEE NOTE1) | (SEENGTET) | (SEENOTE 1) 55| Anchor Tvpe psr | (SEENOTE1) | (SEE ) | ¢ R ) | ¢
X MAX. | CONNECTION | CONNECTION | CONNECTION | CONNECTION | CONNECTION | CONNECTION || X & MAX. | CONNECTION | CONNECTION | CONNECTION | CONNECTION | CONNECTION | CONNECTION - -
W N((J?lEEEﬂ TYPE TYPE TYPE TYPE TYPE TYPE wh N((J%EEE'I) TYPE TYPE TYPE TYPE TYPE TYPE Oq g N E
Q=
1{2f3fjalalzlalefrfzyalea]r)zis]|ajr|zi{3]af1{2]3]s 1fz2lalelag2)atlalr]z)afala]2|s|ef{1]|2]|3]e]1]2]3]¢ EE o Sl
& - , _al = ™
e8 Juzjuz{w2{w]2[1{w]1]1z]e]r]sfuz|2|e|2{uz{1]2]{s]nr]e]9]s e |z nl1]|s|s 4|36l 43/r|nrjs|s]|9]|3]5]|3]¢6 A - % ol Y § >
7 V7 7 7 7, e
a-_-mmm 62 |12|w2|1z]9|uzf{els|siuz|{3[1]efuzlzlz]n]e]s]w|es]|z]s]s]s azmm 62 105636%3//45{//,3//11571.7///’41-%;6%3'///4 E,‘;Eggg
7 v
72 |2fs|nlslue|s]7|s]efs]1]e]u]o|nu]s]|n]s EEIRERE 72 93535%3&7/’5”3/A10L6367///3%6%3%<g§§g$
17679 ITW TAPCON W/ 1760 ITW TAPCON W/ 77 7 7 7 7, 7 7 — ]
e . emecomenr] 92 |12fs |9 23|17 ]efz{alrlel2leln]7]zlel8]s]z]e]e]s 174" M. EMBEOMENT| 92 " WAUAS V30 s ,/74 3 {/,; 8 :’/; 5 /3 6 ;// 3 ///; 6 {/; 3 //A oolE g2 :
Y APPR W/ ANY A av r
WOANYEGROVED T230 |12 |3 |7 2|31 ]al2]af71|efz]|a]8]|s 12| sjiz|s|e|s Veas 230 |s VA3 WAs VA s W3 WA e VA3 e W3V e VA= U OT?gEI
¥,
8 |uz|uz|w2|wofi2]s|o|e]uz|3fe]e]z{n2]ur|n]{nr|s|n|s|12]3]8]s ta |uzlur|n|slwo|3|e|3|1 W u|u|u]1|n|s]s]alals]|s Da|g & D E
i 7 7 - >
62 |njwln|rle|3]1]elwpgds|ealz|u]jels]zlels]s]uz]3]1]s 62 12|68 s s |3 ls Qe An|1|v|s |9 s 3|1 Vs U <3E§3:‘
¥V, v, / Y ]
ﬂ::ﬂ: 72 [u2|1]wlelwP Jelelwlds]efulefu]lr]uls[1]efnr]3][1]s ﬂ::ﬂ::: 72 |nlala N7/ KR/ 7/ E7Z/E 91.7//%5(//47%5%“53_%52
4 ui
veerawzamacnan| 92 Julal1]s|ols|elwl/s|ef2s|oleln[s|1]efnrz]3]1]e e ram zamacnan-w| 92 |9 s |3 e U e A6 0« V/A0] 3 s\ 1WA VA1 A s U rz| g §§ «
W/ 1-178 MIN. EMBEDMENT W/ 1-1/8= MiN. EMBEDMENT - o 7 Iz 7 L 7 7 [}
Y7 EBEINEYZ BB EYZEBBEIE sjelsfrfelrlalafe]} 230 |6 U« WA s VA=A VA WA VAs VA1 VA s VAT A s VA velf 258
= 68 f1u2z|u2fzjuefe|n|n|rzlz{r]e|o]z{u2]{uz]2]z|urz]z]2]2]s]n2]|n 3] tg |nz|uzin|slr]efels]opds|3fu|uzjurz|0]r]e|o|efz|{3]|7]4>5= EEE N
r -
T Xm 62 |2 |z |wz|2|2|7]6|95]2]|6|7 |6 2|z|u|r|w]|9|w|u|uz|1]|z]|w]|]| 9 Xm 62 |1z|s|e|efw|3]|s|efjogula|n|w|rz|s|nr|3]e|sfn]3]|6]|4 ﬂg s alk
o o A w | 3lo e [alnzlrinlrlnl{3lr]elnlale]elflwzl FIE
2 | veos s caucn 712 |22 e|1{e|u2]e| 18] 2]z]u]uz]2]1]r]w]rz]1]|nr]w0 | e maw cavem 712 |2fsf1]s]o 7/4 ;// ! n e el vElz E
W/ 7/8" EMBEDMENT "t w "~ [ 9 L13l12is Q
Q | wiym emeeonent | 92 fzlolwjwfnrlel7]8]|r|e|7]ewz|njzjizfiz]1]zjof2]7 2] i |e e oo sz |12 /3 BRE /// 3 7 Zo|§ $
& {37679 HEAD) 230 122|678 f12z}e6|7i8)12]6|7 |8 1z|7 {20127 |12}10]12]7|12]10 S {3747 HEAD] R EZEBEE /// NEEZ DB EREE sinlsjelsn]3]e] || ome—
o 28 |2|2{2fw|2]sl7]s]n|3js|efrz]z[z]{w]z]s|[o]e]2{3]6]e 5| x 28 |1z 1z]iz]wolz]s|71]s|nl3ls]|a]uzliz|2]jwofiz]{s|s]efjz]a]e]slf
Q X Z 7/ 154 7 7, . W\ —
S ‘ 62 |12]9 (10 2[3]ele|wlds | 3]nr|wue]s]u]3[1]e]wl s & : 62 |2]9ofw|1]uz{3{eleloZds[3|nr|w0|r|s]nz|3]7]]10 {/A s «jlomid s §
- 0/ ¥ -~
& | ve-ecicomaesremae | 72 | 12 BREYZ BB EYZEBEHREEE HERRERZEE g e Eico MaLE/rEALE 12 |12 8|60 ,///% s|3]10 /// s{3fiz]7]w0]e6]w0 /3 6]l //A 6|4 ﬁz g_% w3
. “PANELMATE W/ 1-1/4" MIN. "PANELMATE W/ 1-1/4~ MIN.
2 | Theinsvensmew | 92 [le]s|s|wpds|alwl s |aluz|u]s NZBBREY7ZBe - EhBED. £ 120 scrEw 52 |u2|ale]s{wl/ds[3]w /// si3frlelels]e //// L //A 6] EE BN ga;g
= STUO W/ WASHERED ” STUD W/ WASH| ~~
= e T K Z B Y Z BB EYZ BB EYZE YZBBEYZBE % e o e | 230 0 s 3wl s [3]wl s 3wl ]e]s]w0 V4 61wl //% 6] ¢ Y &'O,gﬁ
ve Jzfuw|wz{2fiz|1]9]sl2]s|e]s|iz|ziz]2]12z]9]1z]10]12]s5 |07 t8 |1z|2]o|s|e|3]s|{3]le 3 Qnu|ulnr|s[n|3]71]|s]s8 7E /3 >§ g@%g%
7 7 Z g
ummm%] 62 |1z|uz|n|wf2|a]r]e]rz|3]6|s]|2|z|u]z]rz|{e|n]l1f2]c]o]s unmmb%} 62 |n|slelele A VAN Az e |0]lsle P e]3] //// 5 //// JE0 S w&mﬁq
4 b 7 7 Py
rwreominn |72l j0]efz]3je]sfz]3]e]sfuzinjuz]n]rfejojefrje]o]e s I KA IR ENE AU As A3 w8l |1 s ) //// 5 //// <0 §§3%°
V=0 1TW HEA - 7 7 7
ovwasouTsieeve | 92 w2 |s|e|7l2|3|e|s|u[3fels|uz]7]uw[es]rleloe]rz[e]s]e6 ovwasoursieeve | 92 |1« 05 43 ) AU s [3le 3|1 0s VA1 0 s ///é (55 u\_adggr
-1/8" - 7 v ¥ 7 L :
HiN. EMBED. 230 {22365 u2]3]elsfin|alelsfiz{aio]efz]s 6112]e 96 MIN. EMBEO. 230 5/43//57///37//57//3//7//45/47/45///7//45//’ < g(%g'gl%
48 |2|zliz|e|e]w|{n]|n]wre]ela|afiz]z]z|12]2]uz]12]12]12]8]1z]w T EIEIEIE BRI I KN K I X R EEE 3 Y AT R EA KR R i U Nh= ,_12
. Sz 3
gﬁw—ﬂ 62 [ |wzfwz|z|2]1{ele]n{sl1]1]2]wziz]z]z]eln2|n]2]s|n]s - 62 |w|u|w|wrje[1|e[s|n]s|n]7]ne|wrijelelel|urjs|r|sin|?|H Wit ] 3
N
72 |2 |12 |12|w2|2]s |1 7]2|s|1|1]u2]2]2|2]z]1]2]s]|z]e]|2]9 42" SCREw RoD | 72 f2|2|zlz]z|s|unjr{ez{s{n]r]rz{nz|e|ele|s|n]1|ez|s|n]7 N(ll-J 132 Z
Ve el 92 |2l e wluz|s]1]1f2s{1]7]2]w]|z{z]2]e|rz]9o]12]6]12]s we-20 Twepconeroxy] 92 |12| 8 |wz|wlwz]s || rfnlsinji|z2]eln|wjuz{s|n]r}juz|sin}|7
BOLT (37078 HEAD) We SCREW W/ 2° NN, EMBED. sinl7|ui{s{n|7r{z|s|n{1]12z]s|n]7{iz]|s5]n]1 | c———
O el 230 [w2|s |71 ]1iz|s|1|1{w2ls]1]7]2]le|uwlo]2lelz]o]2]e|12]9 SCREw w/ 2~ MiN.EMseD.| 230 |12 | s |n |7 |2 ——
o
-, ~
n
(5
ANCHOR SCHEDULE olg
pod -4
FASTENER SPACING (INCHES) REQUIRED FOR VARIOQUS DESIGN LOADS AND SPANS o 2 \g
s sl3
TES: 3/4* EDGE DISTANCE «  ° ol l=lz
ANCHOR NOTES w / APPROVED AS COMPLYING WITH THF = EEH
L) 4 LOAD | SPANS UP TO SPANS UP TO { SPANS UP TO ol 1515
1. SPANS & LOADS SHOWN HERE ARE FOR ANCHOR SPACING 10. MACHINE SCREWS SHALL HAVE A MINIMUM OF 1/2” ENGAGEMENT | Z 3 tw) 5°- -5 1.t SOUTH FLORIDA BUILDING CODE a2
ONLY. ALLOWABLE SHUTTER SPANS FOR SPECIFIC LOADS OF THREAD IN BASE ANCHOR AND MAY HAVE EITHER A PAN FE | ANCHOR TvPE (SEENOTE1) | (SEENOTE 1) | (SEE NOTE 1) S g
MUST BE LIMITED TO THOSE SHOWN IN TABLE 1, SHEET 3. HEAD, TRUSS HEAD, OR WAFER HEAD (SIDEWALK BOL T}, U.O.N. n 35 PSF DATE ,{,{m /?, 2000 of [N
: i xe MAX. | CONNECTION | CONNECTION | CONNECTION / o |al3
2. ENTER TABLE BASED ON THE EXISTING STRUCTURE 1. 1/4-2Q TRUSS HEAD BOLTS MAY BE USED IN LIEU OF = (SEE TopE TvPE TYPE s
MATERIAL, ANCHOR TYPE AND EDGE DIS TANCE. 17420 SIDEWALK BOLTS, w NOTE 1) L
3. CHOOSE DESIGN LOAD GREATER THAN OR EQUAL TO 12. EXISTING STRUCTURE MAY BE CONCRETE, HOLLOW BLOCK, 123 (&)1 ]21314}11;213}4 PRODUCT CONYROL DiV:S:ON =l
NEGATIVE DESIGN LOAD ON BUILDING AND CHDOSE SPAN OR WOOD FRAMING. WHERE EXISTING STRUCTURE IS SHOWN . 0 A i I
GREATER THAN OR EQUAL TO SHUTTER SPAN. AS CONCRETE, IT IS FOR PRESENTATION ONLY. REFERENCE «g8 lz)z)izf{2l2z{n|9jizf{i2}1|1]°9 BUILDING CODE g)glPL:Al\CE OFFICE <
4. REFERENCE SPACING FROM APPROPRIATE CONNECTION TYPE. ANCHOR SCHEDULE FOR PROPER ANCHOR TYPE BASED ON TYPE 62 12012)12]2§12}7]719]12215]618 ACCEPTANCE No. VY T 020/ 04 — o
SEE CONNECTION OETAILS FOR IDENTIFICATION OF CONNECTION OF EXISTING STRUCTURE. O € B 72 12 12lw0l2l25 6 8fwz|5|6]es V.d. KNEZ
TYPE. . 1/4"® WO0O LAG SCREW
B P Vch ARE NOT ACCER TABLE USES. i e penetaaton| sz (2|9 s |w|z|s|els|u]s|s|e| PRODUCT RENEWED
5. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES (SHE?g 2:2.:&““ 730 T TsTelelzls el alnls|sle
oL en an e hd w8 |12 |12]zlzlz|n]|71]12f12|7]|s |9 | ACCEPTANCENo. 00~0705- 0 6
6. ANCHORS SHALL BE INSTALLED IN ACCORDANCE 06’ / 7 0073
WITH MANUFACTURERS RECOMMENDATIONS W/ MiN. 0 H:Imm 62 1212110 4}12 {12 7 S 9412} 5 S 8 T DATE 4 [#]o]
EMBEOMENT INDICATED ABOVE. 8 72 12l12i 81121121 s 5 g l121s 5 8
¥ DESIGNATES ANCHORS WHICH ARE REMOV ABLE. 174~@ WOOO LAG SCREW _
7. WHERE EXISTING STRUCTURE IS WOOD, wOOD FRAMING 25%3:25005;?5 D‘SREE‘IIESL&%T[‘ QOGE)?CEEZD VALUE ; W/ 1_3/[,-ERPEEE;|;RCAT|Q;¢ 92 1219 6 |110]1215s S gl121 s S 8 = l
. Y t (SHEAR P NDICUL A
i%"éz”m”s VARY. FIELD VERIFY THAT FASTENERS ARE INTO SPECIFIED IN ANCHOR SCHEDULE. TO GRAIN) 230 |12]s|s|8f12|{sis|8}12/]5}5]|8 PRODUC'I@(’)NTROL DIVIS}ON ( /01/18/00
UATE WOOD FRAMING MEMBERS, NOT PLYWOOD. BUILDING CODE COMPLIANCE OFFICE drawn by
FASTENING TO PLYWOOD IS ACCEPTABLE ONLY FOR SIDE % 8 0 e J12 1212 2lz]lzlizlz|z]ol22 ("iﬁeﬁr J
FRAMING. 62 121121271212y Miw2liz112)8 111112 deslgn bijﬁ!ckﬂ\dlf’"y
- Jw
9. WHERE LAG SCREWS FASTEN TO NARRDW FACE OF mgmmmm» 72 2l lzl1zl12zl8 lnlizlz]s 1]
STUO FRAMING. FASTENER SHALL BE LOCATED IN 1706 ELCO MALE/FEMALE drawing no.
CENTER OF NOMINAL 2" x 4" (MIN} WOOD STUD. “"PANELMATE W/ 1-17L" 92 12 112 {1212 { 12 8 11112112 8 1112 00_01 3
IN. EMBED. & 1/4-20
WOOD SHALL BE OF SPACIFIC GRAVITY G = 0.55 OR GREATER M e ALK BOLT 230 l1zila lnilizlizlielnlizlazislnln Foeriore )

DENSITY. [

01/18/00 14:00




' — ) l —'__.__w—-—-__‘ T m
! ; 4
1/6-20 MACHINE BOLT & - ® . A
WINGNUT on WASHERED 1 : o
NUT §3) @6~ 0.C. FOR TYPE p =1 @ — "
1% Il OR @ 12" G.C. FOR TYPE y g'ﬁAnsosoa g T
M & TYPE IV — e i 2" x 27 x .093" ALUM. 5
" " I STUD ANGLE z : %3
THREE 1/4"® WOOD LAG Lt T2 S e PN 2 T 4 Oy g zlz
SCREWS W/ 2-1/4" MIN. : -@ 27 X 2T % O NGLE 2 3 Zz gSi=
EMBED. @ 24" 0.C. MAX. | WwOO0D ROOF TRUSS | ALUM by 1/4-20 MACHINE BOLT & o —-clg Ela
\ \ | \ ! /_OR FRAMING MEMBER i ¥ WINGN Ton WASHERED \J 2 ® 2% 3" x /8" R -al gy
4 SHALL BE PERPENDICULAR ! 1 " NUT §3) @6~ 0.C. FOR TYPE o s . N Y E] <
To PANEL g MAX. 178" TILE LL 11 OR @ 12 0.C. FOR TYPE % 2" % 5 x 1/8” 6063-T6 orid g <
| ‘ FINISH MAT&RIAL & TYPE IV z ALUM. ANGLE }-}6 g § § g
k4 Ll = (G 2-x 3" x /8" TO <3 ggg @
w ! W = e L 2" x 5" x 1/8~ Solggall<
STUCCO FINISH OR ~ \K >y e evolsa;ZfaAsL-l‘._JséANGLE Ozl & 2 3=
PLYWOOD SOFFIT 3/ PLYWOOD P A I @ nlye @ olE % &z
: e—— 2" x 4" x 1/8™ CONT, 1l <Dy gk .|le
174" MAX. g N ALUM. TUBE 16063-T6} TWO-3/16" ALUM. 25 E é zl>
oo g Wb L POP RIVETS w 3]
CONT. 2” x &“ x 1/8 PN et 1/47® RAWL CALK-IN @ 7° 0.C. - 5 : | N
ALUM. ANGLE OVER z (. Vi 778 M, EMB. IN CONC. OR @ 127 0.C. FEHERELE
wO00D MEMBERS in T HOLLOW BLOCK OR 1/&"@ LAG SCREW Ol 3 &=
A @ 12" 0.C. W/ 1-1/2" MIN. EM e
¢ ! P : IN WOOD. WOOD SHALL BE OF SPECIFIC Z 3 °
®- i ® = GRAVITY “G~ OF 0.55 OR GREATER eg z a gis
! . - 17672 RAWL CALK~IN =i a o
: z _l 1/2"® THRU BOLT @ 12" 0.C. @ 6»524% \;«/ %/ac z: g 2
g S A 174”0 RAWL CALK-IN @ 12" 0.C. MIN N C 32 -
I z E-— WITH 7/8” MIN. EMB. INCONC OR W/ 174220 MACHINE SCREW Nal5 EIE
)_SEE MIN. SEPARATION 1 #14 SMS BETWEEN EMB HOLLOW BLOCK OR 1/4”® LAG SCREW . I-Ug = 2 e
| TRUSSES @ 12" O.C. { @ 24" 0.C. W/ 1-1/2" MIN. EMB. IN WOO0D = oz
{FROM GLASS SCHEDULE : @ v i WOOD SHALL BE OF SPECIFIC <’ g =g
| z o \ GRAVITY “G" OF 0.55 OR GREATER = 9
| .
I @ ; @ 2~ x 2" x 1/8” CONT. ALUM. ANGLE 6063-T6 NQTE: THIS DETAIL MAY BE USED AT [
! < TOP OR BOTTOM OF PANEL. Dd 0 =
{MAX. DESIGN LOAD = 72 PSF) w > _3 S q;
{MAX. DESIGN LOAD = 72 PSF) has
{MAX. DESIGN LOAD 72 PSF) APPROVED AS COMPLYING WITH THE Ng -\:§'§ o3
2§ poes
- SOUTH FLORIDA BUILDING CODE 20 R
SOFFIT CONNECTION DETAIL "PASS THRU" DETAIL Margl (2 2000 EDGE MOUNT DETAIL < A S%-g%;r,
@ @ e =7 v 0 S2I3S3ES
SCALE : 3" = 1'-0” SCALE: 3" = 1'-0" SCALE : 3" = 1'-0" == =R
PRODUCT RENEWED BY &m: S
. Ve .d
PRODUCT CONTROL DIVISiON Ol =9
ACCEPTANCENo, 00 — 0705~ 66 , OFRlS SEES
BUILDING CDDE COMPLIANGE OFFICE 0 YT
- . VLT
mionpate_0 8/ /4. /2003 acceprance o 00 =020 O4- < | S SSE8
7
- . om| 35725
: = if & T & 1! O w t T u‘g
-—@® ° PRODUCTAONTROL DIVISION P — e — aF :S?E =
o BUILDING CODE COMPLIANCE OFFICE T i 3/8~ HOLE FOR 1)) &
" 3 FASTENING PANEL
. 2-1/2" 2" x |&"x 178" " ~ ] ! r 1
2" x 27 x .093" ALUM. [ [ 5 = To— e ~3H. 2 2~ ALUM, ) (=
STUD ANGLE g T 6063-T6& ANGLE # STUD ANGLE "
3 i o ‘. n = it e =g cle
- Yy GEL.L . 1746~ MAX. K 1/4%~20 STUO o|s
1/4-20 MA HINE BOLT & o a Wlii 2 s TWO-2" x 5° x 178" @ zle
WING OR WASHERED  \} HH —— - L~ 1/4-20 MACHINE SCREW  ® a
NUT * 6a) @5~ 0.C. FOR TYPE ; S i 6%%3—;6 ALUM. STUD W/ WING NUT @ T INTERIOR FASTENING g = ;
124 OF @ 12 0.C. FOR TYPE | . ozt ANGL 6 0.C. TO PANEL o ANGLE ASSEMBLY- ’ of |eiE
W & TYPE iV—————————— § - s ANGLE CONNECTION z —— — [ol0
bx / MIN, ® w e | i SCALE: 1-1/2" = 1'-0 N
- ] Wt
o <176"® RAWL CALK-IN W/ @ l-—— STUDDED STORM PANEL . > 5
EAE TSR . z O
e A EC%?JE%; g E in | 1/.-20 MACHINE SCREW & E Ay i = 33
9 % 7" 0.C. IN HOLLOW BLOCK | o 2% x 2" x /8" STUD W/ NUT @ 6" 0.C. STUD W/ NUT @ 67 O.C. RE
Z| 1 WITH 174-20 MACHINE SCREW —0 g STUDDED ANGLE TO ANGLE % TW0-1/4"® OROP-IN ais
= IR . b pr ANGLE CONNECTION T : ANCHOR @ 7* 0.C. °l3
oo i . L S ~ W/ 1* MIN. EMBED. =T
{ o~ ; H Y L~ THREE-1/4"® RAWL IN CONC. U Llelm
- - < CALK-IN @ &” 0.C. W/ 1/8" - P =
MR | = &5 SIACHINE BOLT a . MIN. EMBED. IN CONC. W/ \ bamd
- N i X ~ 1/4-20 MACHINE SCREW INTERIOR FASTENING V.J. KNEZEVJEH
al M 5/16™ ® RAWL CALK-IN : b (s ANGLE ASSEMBLY PROFESSIONAL £HGINEER
. @ 5" 0.C. W/ ¥ MIN. EMBED. e = x ——
e . INTG CONC. OR HOLLOW BLOCK .. l ; . SCALE: 1-1/2" = -0
gme| R W/ 5/16-18 MACHINE SCREW I = A — e
s \ —Ap——AsL — K . 4 1, .
2 - " g " EMBED. e . 15
7V ® 2" x 57 x 178" CONT. - . ool . O il PUNCH HOLES IN ADJACENT
ANGLE 6063-T6 ALUM. W/ . ] - PANELS TO RECEIVE THIS BOLT
174" STUD @ 12* 0.C. I PLACE PANEL OVER EACH
PR AOJACENT PANEL AND FASTEN
A § WINGNUTS FROM THE INSIDE
NOTE: THIS DETAIL MAY BE USED AT >
TOP OR BOTTOM OF PANEL. {MAX. DESIGN LOAD = 72 PSF) {MAX. DESIGN LOAD = 72 PSF)
{MAX. DESIGN LOAD = 72 PSF)
design by j[chached b
-~ ANGLE TO "U" HEADER . STORM PANEL (5" " o)
EDGE MOUNT DETAIL BUILD-OUT ASSEMBLY MOUNT INTERIOR FASTENING DETAIL  wse witroetan () araving o,
©) ® ® 00-013
SCALE : 3" = *-0" SCALE : 3" = 1'<0" SCALE : 3" = 1'~0" SCALE: N.T.S.
[ sheersors |




176-20 MACHINE BOLT &
WINGNUT(8) OR WASHERED
NUT @ 12~ 0.C. FOR TYPE

TEL; (854) 382-2800 » FAX: (854) 382-2989
WEBSITE: WWW.KNEZEVICH.COM ¢ E-MAIL: KAGKNEZEVICH.COM

CONSULTING ENGINEERS « PRODUGT TESTING
1260 N. UNIVERSITY DRIVE, SUITE 180 » FORT LAUDERDALE, FL 33322

COPYRIGHT ©® 2000 KNEZEVICH & ASSOCIATES, INC.

KNEZEVICH & ASSOCIATES, INC.

0 I W ok 3
TWO - 5/16"® CALK-IN @ 3-1/8" . 1% 1 OR @ 6™ 0.C. FOR TYPE It
. 0.C. W/ 1" MIN. EMBED. IN CONC. Y & TYPE IV
in OR HOLLOW BLOCK W/ 3-3/4" MIN. )
2% x 2" x 055" . EDGE DIST. W/ 5/16-18 MACHINE o
- Ll
6063-T6 CONT. " SCREW T P e o
ALUM. TUBE T = H
= Q 4
v 3 v z | [ e ——
z T 4 R . w 1/74"® THRU BOLT @ | ©
u Lo T 27 % 2°x 093 = 12~ 0.C. ANGLE TO | N
2 eMd. STUDDED ANGLE P ANGLE CONNECTION | I fa ) —-
[ o] o ¢ o o | g USs §
z ! ® z ‘ . a 1 a 1/6"® RAWL CALK-IN @ W Z UJZ _8 nY
z a < . ; 11 0.C. W/ 778" MIN. i N _g'?% —_c
g i % . ﬂ ﬁ § EMBED. INTO CONCRETE W/ - - ( P
3 % - 12 SMS T 1/4-20 MACHINE SCREW |l g2 Zalk O Em,_‘
N | T . - 12 1 U\ o0 <
W eioc | | & {s|5 5382
.o 1-1/2" iy S > é“\) 3.=$
f K e . N _l I : < 4 E [ :l-g‘s
L i e 2% x 7x 9°=7" MAX. T1=0.13, £ 3 Nl
A ® 27 x 2" x.093" 2 x 2% x .093" . - 1 Tw=0.055" 6063-T6 ALUM. v % 3 €0 £ .05
STUDDED ANGLE STUDDED ANGLE < L LAP BEAM 5 ARV \ © 7% 2" x 093" \_ /420 MACHINE BOLT £ OF \R v 3-83:
: E T - . - - D
1/4-20 MACHINE 1/4-20 MACHINE BOLT & PR SN 2% % 3" % 176" x 0°—6&" 51 . . STUDDED ANGLE WINGNUT(B) OR WASHERED .0 24 S
SCREW @ 6" 0.C ‘ - E oL X * BV VoevS
@& o.c WINGNUT(8) OR WASHERED T 6063-T6 ALUM. ANGLE T 1, a2 NUT (83) @ 12~ 0.C. FOR TYPE <_J . NF33
- « K ] o 2-1/27 4
1/4"® RAWL CALK-IN NUT @3) @ 12°0.C. FOR TYPE J T - (TYP.TOP & BOTTOM) e AN 2% x 2% x 093" 1EHOR@ 6" O.C FORTYPEM | |(G ) SQ—: i L
W/ 778" MIN. EMBED. 1% 1 OR @ 6" 0.C. FOR TYPE Wi o : Y v STUD ANGLE & TYPE IV =T .«
IN CONC. OR HOLLOW & TYPE IV . . r ol - ® =%
BLOCK @ 6~ O.C. . . ] TW0-1/4-20 MACHINE SCREWS 2" x g% 178" N i.. 32 =
. : . ALT. LEG DIRECTION 6063-T6 ANGLE 0= 8y
EXISTING C.B.S. _/ _
NOTE: THIS DETAIL MAY BE USED AT NOTE: THIS DETAIL MAY BE USED- AT NOTE: THIS DETAIL MAY BE USED AT
TOP OR BOTTOM OF PANEL. TOP OR BOTTOM OF PANEL. TOP OR BOTTOM OF PANEL.

(MAX. DESIGN LOAD = 72 PSF) {MAX. DESIGN LOAD = 72 PSF} {MAX. DESIGN LOAD = 72 PSF)

»
£
P |

description

1 101718/00 WK PREV, DRAWING No. 95-333

revislions

2" x 2" ALUM. TUBE BUILD-OUT. @ STORM PANEL SUPPORT BEAM @ STORM PANEL BUILD-QUT

® " SCALE: 3" = *-0"

SCALE : 3" = -0~ SCALE : 3" = 1"-0"

F RODUCT RENEWED APPROVED AS COMPLYING WITH THF

. 06 -0 70 5.0 é SOUTH FLORIDA BUILDING CODE
ARCEFTANCE No. e JMesde [T, 2000

8/14 /103 ,

TION DATE O
By | g/éwﬁ / W\/ proouct cofTRot. Division

dafe
PRODUCFCONTROL DIVISION BUILDING CODE COMPLIANCE OFFICE "’ 18/00

BUILDING CODE COMPLIANCE OFFICE ACCEPTANCE N0.2O = 02.0(. O 4~ e )

drawing na.

00-013

[ sheet 6 ar 6 ]




